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Which of the following can be taken as the main approaches in andragogy? 1. The focus of andragogical approach is on self-directed, cooperative and
two-way learning process. 2. In andragogy, motivation for learners is based on intrinsic factors such as; self-esteem, self-confidence, desire for the better

quality of life, curiosity, self-development etc. 3. Andragogy is motivational approach. Codes:

a.1land2
b.2 and 3
c.land3
d. 1,2 and 3

Answer. d

2. What do we mean by curriculum?

a. All the experiences which students get in school.
b. Subject that are transferred by the faculty.

c. Syllabus prescribed for the course.

d. Class experiences, sports and games.

Answer. a

3.

In List-1, the names of the philosophers are given and in List-II, the statements regarding the philosophy are given. Match List-I with List-II in correct

order.

List-1 List-II

(Characteristic)  (Philosophy)
(A) Tagore (1) Harmonious development
~of personahty

(B) Vivekanandé (zl) The doctrme of kéfma

(C) Mahatma (iii) Child is more mportant
Gandhi an all kinds of books
(D) Buddhism (1v) Yoga as a method of
' edut_:__atlon
(v) The doctrine of dharma

a. A-(v), B-(i), C~(ii), D-(iv)



b. A-(iii), B-(iv), C-(ii), D-(v)

¢. A-(iii), B-(iv), C-(i), D-(ii)

d. A-(iv), B(ii), C-(i), D~(iii)

Answer. ¢

4. The ability of an individual to think about one's own thought processes, self-monitor and modify one's learning strategies as necessary is termed as

a. Metacognition

b. Self-regulation

c. Simple cognition
d. None of the above

Answer. a

5. For the homework to be effective in accomplishing its purpose, which of the following suggestions for teachers is correct ?

a. Give homework as punishment.

b. Make up spur-of-the-moment homework assignments for student practice.

c. Do not except students to always have their homework assignments completed.

d. Do not listen to what students say about their experiences in completing homework assignments.

Answer. ¢

ESSAY1 :

A country under foreign domination seeks escape from the present in dreams of a vanished age and finds consolation in visions about the greatness of the
past generations. That is a foolish and dangerous pastime in which many of us indulge. An equally questionable practice for us in India is to imagine that
we are still spiritually great, though we have come down in the world in other respects. Spiritual or any other such greatness cannot be found on lack of
freedom and opportunity or on starvation and misery. Many western writers have encouraged the notion that Indians are other worldly. I suppose that the
poor and unfortunate in every country become other worldly to some extent, unless they become revolutionaries, for this world is evidently not meant for
them. So are the subjected people. As a man grows to maturity, he is not entirely engrossed in or satisfied with the external objective world. He also seeks
some inner meaning and some psychological and physical satisfaction. Therefore, along with people and civilizations, they mature and grow as adults.
Every civilization and every person exhibits these parallel streams of external and internal lives. Where they meet or keep close to each other there is an
equilibrium and stability, and when they diverge, conflicts and crisis arise that torture the mind and the spirit.

6. The passage mentions that 'this world is evidently not meant for them'. It refers to people who:

a. Seek freedom from foreign domination
b. Live in starvation and misery

c. Become revolutionaries

d. All of the above

Answer. b

7. Which of the following can be taken as the most valid assumption of the paragraph?

a. A country under foreign domination cannot indulge in spiritual pursuit.



b. Poverty ia an impediment in suitable pursuit.
c¢. Both (a) and (b)
d. None of the above

Answer. b

8. Which of the following can be considered the main theme of the paragraph ?

a. The state of mind of oppressed people.

b. Starvation and misery.

c. The growth of civilization.

d. Body, mind and spirit of people in general.

Answer. a

9. According to the passage, the torture of the mind and spirit is caused:

a. By the ruthlessness of foreign domination.

b. By the desire to escape from foreign domination and find consolation in visions of past greatness.
c. By the desire to become either other worldly or revolutionary.

d. Due to lack of equilibrium betweeen an external life and an internal life.

Answer. d

10. As a person grows in maturity, she/he seeks:

a. Psychological satisfaction only

b. Physical satisfaction only

c. Both psychological and physical satisfaction.
d. Neither (a) or (b).

Answer. ¢

11. Books and records are the primary sources of data in

a. Historical research

b. Participatory research
c. Clinical research

d. Laboratory research

Answer. a

12. Which of the following statements are correct in context of descriptive research?

a. This describes the characterstics of the population or phenomenon that is being studied.

b. This methodology focuses more on the "what" of the research subject rather than the "why" of the research subject.



c. This should preferably be a qualitative research.
d. All of the above.

Answer. d

13. The validity and reliability of a research will be at stake when

a. The incident is reported after a long period of time from its occurance.
b. The author who is source of information is biased and incompetent.

c. The researchers is not competent enough to draw logical conclusions.
d. All of the above.

Answer. d

14. The Variable manipulated by the researcher in an experiment is called the

a. Response variable

b. Independent variable
c. Dependent variable
d. Extraneous variable

Answer. b

15. Population Generalizability refers to

a. Conclusions researchers makebabout a random sample.

b. Conclusion researchers make about information uncovered in research study.

c. The degree to which a sample represents the population of interest.

d. The degree to which results of a study can be extended to other settings or conditions.

Answer. ¢

16. Which of the following can be termed as the 'context' of communication?

a. An interference with message reception.

b. Effective communication

c. Verbal and non-verbal responses to messages.

d. A physical and psychological environment for conversation.
Answer. d

17. Communication means Of information 1. Suppression 2. Exchange 3. Understanding 4. Contextualization 5. Abstraction Choose the
correct answer from the options given below:

a.1,2and 3
b.3,4and 5
c.1,2and 5
d.2,3and 4

Answer. d



18. Which of the following is not a successful communicator ?

a. One who presents material in a precise and clear way

b. One who is able to adopt himself/herself according to the language of the communicatee
c. One who knows a lot but is somewhat reserve in his/her attitude

d. One who sometimes becomes informal before the receiver and develops a rapport

Answer. ¢

19. Communication between two or more people is called

a. Organizational communication
b. Interpersonal communication
c. Extrapersonal communication
d. Intrapersonal communication

Answer. p g d

20. Which is a characteristic of prejudice ?

a. Generalized evaluation, specifically of out group members
b. Negativity

c. Biased perceptions

d. All of the above.

Answer. d

21. Find the missing number in the following series. 1, 1, 4, 8, 9, 27, 16, ?

a. 32

b. 64

c. 81

d. 256
Answer. b

22. In a certain code language, '743' means 'mangoes are good', '657' means 'eat good food', and '934' means 'mangoes are ripe'. Which of the following
digit in that code means 'ripe'?

d.7

Answer. a

23. Vinita, who is the sister-in-law of Amit, is the daughter-in-law of Kamni. Deepak is the father of Sandy who is the only brother of Amit. How is
Kalyani related to Ashok ?

a. Mother-in-law



b. Aunt

c. Wife

d. None of the above
Answer. d

24. Town D is 12 km towards the north of town A. Town C is 15 km towards the west of town D. Town B is 15 km away towards the west of toown A.
How far and in which direction is town B from town C?

a. 15 km towards the north
b. 12 km towards the south
¢. 3 km towards the south

d. 12 km towards the south

Answer. p & d

25. A man on tour travels first 320 km at 64 kmph and the rest at 80 kmph. The average speed for the entire 640 km of the tour is.

a. 35.55 kmph
b. 36 kmph
¢. 71.11 kmph
d. 71 kmph

Answer. ¢

26. Which of the following denotes a statement of relation betweeen two terms?

a. Proposition

b. Denotation

c. Syllogism

d. None of the above

Answer. a

27. Affirmative or negative is the classification of propositions on the basis of

a. Quantity
b. Quality
c. Validity
d. Truth

Answer. b

28. Bats are mammals because bats suckle their young, and

a. All those who suckle their young are mammals.
b. All mammals suckle their young
c. Some of those who suckle their young are mammals

d. All the options



Answer. a

29. Humans and animals are both living, breathing bings. Humans have civil rights. Therefore, animals have civil rights. These statements indicate the
following fallacy.

a. False analogy

b. Ad hominem

c. Red herring

d. Complex question

Answer. a

30. Which of the following statements are mutually inconsistent ?

a. Mostly poets are not egoistic.

b. Mostly poets are humble.

c. Some poets are egoistic

d. Some poets are not non-egoistic

Answer. ¢

ESSAY02 :
Directions: Study the following table carefully and answer questions Next Five Question. It consists of data on the number of candidates who appeared
from five schools in the board exams from 2004 to 2008.

- .:..'S(_:ht_)..ols ¥

2004 650 760 820 800 780
2005 700 740 860 780 740

2006 800 820 940 750 730
2007 750 880 920 840 790
2008 850 840 900 . 860 770

31.

The number of students who appeared from School E in 2004 is approximately what percentage of the total number of students who appeared from all the
schools together in that year?

a. 16%
b. 18%
c. 20%
d. 25%

Answer. ¢

32. What is the average number of students who appeared from School B for all the years?

a. 676

b. 787



c. 808
d. 818

Answer. ¢

33.

The number of students who appeared in 2006 from School A is what percent of the total number of students who appeared from School A for all the years
together ?

a.25.25
b.21.33
c. 2245
d. 23.45

Answer. b

34. What is the ratio between the total number of students who appearedd in 2004 and 2005 from Schools C and D, respectively?

a. 84.79
b. 79.84
c. 84.89
d. 89.84

Answer. a

35. What is the average number of students who appeared from the given schools in 20077

a. 825
b. 836
c. 845
d. 863

Answer. b

36. Which of the following is flash memory?

a. RAM

b. EEPROM
c¢. PROM

d. EPROM

Answer. b

37. WAN stands for

a. WAP Area Network

b. Wide Area Network



c. Wide Arrey Net
d. Wireless Area Network

Answer. b

38. A compiler is used to convert the following to object code which can be executed.

a. High-level language

b. Low-level language

c. Assembly-level language
d. Natural language

Answer. a

39. Web server is a software for

a. Analysing web traffic

b. Serving web page on user's request
¢. Crawling the web

d. Unix operating system

Answer. b

40. The name of the protocol that supports linking from one page to another page is

a. HTML
b. IP

c¢. HTTP
d. FTP

Answer. ¢

41. Arrange list II in proper sequence so as to match it with List I and choose the correct answer from the code given below.

(Watgl’t Quahty e

A LiStIE
PR (’pH-Value]

B. Moderately acidic
C. Alkaline
D

. Injurious

a. A-11, B-1II, C-I, D-1V
b. A-L, B-11I, C-1I, D-IV

¢. A-IL, B-I, C-1V, D-III



d. A-I11, B-L, C-II, D-IV

Answer. ¢

42. The majority of earth's water is in the form of

a. Occans

b. Atmosphere

c. Freshwater lakes and glaciers
d. Rivers

Answer. a

43. Which of the following regions is in the way of high-risk zone of earthquakes?

a. Central Indian Highland
b. Coastal region

c¢. Himalayan region

d. Indian desert

Answer. ¢

44. TUCN stands for

a. International Union for Conservation of Nature and Naturaal Resources.
b. Indian Union for Conservation of Nature and Natural Resources.

c. Integrated Union for Conservation of Nature and Natural Resources.

d. None of the above

Answer. Bonus is awarded for this question to all the candidates.

45. Which of the following objectives of REDD+ ?

a. Carbon stocks

b. Causes of forest degradation
¢. Major carbon sinks

d. All of the above.

Answer. d

46. The 'Sutra’' period during ancient education was assumed to be equal to

a. Vedic period

b. Upnishad period
c. Bhakti period

d. Poorva Mimansa

Answer. b



47. India invented the number system. Who among the following invented the 'zero' ?

a. Aryabhatta

b. Bhaskaracharya
c. Budhayana

d. Sushrutha

Answer. a

48. Which of the following is the regulator of higher education ?

a. NCERT

b. AICTE

c. UGC

d. Ministry of Education.

Answer. ¢

49. CBCS provides an opportunity for students to choose courses from:

a. Core courses

b. Environmental education

c. Elective courses

d. Ability enhancement courses

Answer. Bonus is awarded for this question to all the candidates.

50. The South Asian University is located at

a. New Delhi
b. Jaipur

c. Kathmandu
d. Islamabad

Answer. a
Test Question Language:- HINDI

1. Trcierdiet FHorar Sgmeiaed T S WU daar 9 bl 1. &@Tﬁﬁw@ﬁwﬁwwﬁﬁﬁmm%wﬁ%wm&nﬁz
Jgreime, Risumrararst IRum € 3iaike gedpiar MURT Rd oR BY; M-I, ATHIYT, Sha-redr aiTedr gurdl 5T, $Ied, NH-[Aer™ 3. 3. TgHTet &
RF T MR, FrS:

a. 1 37for 2
b. 2 37for 3
c. 1 3nfor 3
d. 1,237f01 3

Answer. d



2. 3T 31 SNATAHHAR HTI FHRal?

a. faemafy wq AR 9d erya.
b. MEAUSIGR gWIdR Had fawg.

¢. WAHHS! fafgd beien enamssA.
d. 3t sya, Qe T W=,

Answer. a

3. I141-1 A Acagie 19 el Sed Sfor Aret-11 Hed axaTTRit et faem fael smea. arct-1 a1 arei-11 98 g HaH Jodl.

List-1 List-Il

(Characteristic) (Philosophy)

(A) Tagore (i) Harmonious development
of personality

(B) WVivekananda Cii) 'I_'he_ doctrine of karma

(C) Mahatma (iii) Child is more important

Gandhi than all kinds of books

(D) Buddhism (iv) Yoga as a method of

education

(v) The doctrine of dharma

a. A=(v), B-(i), C-(ii), D~(iv)
b. A(iii), B-(iv), C-(ii), D-(v)
¢. A(iii), B-(iv), C-(i), D-(ii)
d. A<(iv), B(ii), C~(i), D~(iii)
Answer. ¢

4, TER FHiA WA GUR Ufedegd R wxvard, Wad Mg sxvard ol saxadd]aR TERe Rieuare J0FHeE YR SR &Hd o
TG,

a. AT

b. @-FgH

c. | e

d. 0! PTEE TE

Answer. a

5. TEUTS T I T FHRUGIATS! YT SI0aITe!, Rieias ardt Wreftertias! S1ord gamm ang 3mg?

a. TR1& WU gUTS 1.

b. faemafzr wamEt WR-3iF-3-Ae eUs R TR H

¢. faemaiT @ TRuTs srgRe AEH! g SRvANIS AIgT 3 9.

d. TeUe 3REAEe gul exam faendf @ sruaieEd S WU o U@ Al

Answer. ¢



essay 03 :

RS AT A U <= T Ues HIGUARITS! U gxaarel JUia Saueed Jief Oal i ydsbTestiia e e8ias iaH
fread. 3 Ue T 3N1fYT eidTerad Be Mg ST MU 3 Tdaad SRdId. HRATd ATIIT3! U fadard SRR uT 311, <ff worst

TG 315! SMTeAT P Esel HeTH MRId 38 FHGIU], S 3R SIadid YU HH! ATl 3, SATED [dhaT 37 HIUTE] FbRdl Hedl Widx
TfoT Heffeam SruTaTd fhal SUTHART ST g &1 WIS ATel. 3 YIEH! aaas =t URATIIHT SFISINTIIS Sl [9aR Widied &l 38, T
eia T SNfdr gidt ik BIET ST SIS ST, SUEd o SifdeR §9d ATgid, HRUT 81 ST el T3t gt T drsardid adbrar
T TR, U ol Uie Svariad, ot qofa: sl a¥gfRuciiean srTTd acian fdhar Jae= 7o, Y wret siavia orf onfdr wret A @ IRk
T e e, IS, W giaTd ST b TaRiaR SO TGl dTeddrd. U TRl AT Udids Skl aTel SMifor S Sitarear a1
TR UaTgT WeRH HRard. 9 o YedTd fdhal Ui T waes Agdrd, fad Sga i fRRaT s, ST ST o 37T giard, degl ae $f1for

Tepe IHT AGATd, S A 30T ATRITeT F1 ST,

6. AT '3 ST IHTETS! TRl 3T Ie0T TR, § 3= eidpian ¥gH oo o

a. RPN THQIIREA okt fyesar

b. SURTHR IO G- &Td S
c. BIfdHRS I at
d. R 4 g

Answer. b

7. Weltate! S0 URwsE gatd Y TEId eRa SIS, Jabvd?

a. Y JRAEl A o eAfed WAl $F Wahd T,
b. TR 71 A NTd ISYST 3Te.

c. a) 30 (b) I

d. adees! I et

Answer. b

8. WTHete! ST U ere T g AIe oS Taal?

a. ARG dlbiear JA= e,

b. SUHR 3101 .

c. g dre.

d. GAGTYRUTY b IRR, T 30T S

Answer. a

9. URESEITIR, T ST MTeTa ITa1 gia:

a. WP el fdgan.



b. RET TGN Gevaran =3 MM Yadai TgHdan v iaH fiesdr.
¢. 3R WF fFar FifaeRe sHvam=a TR,
d. TMyd SiaA Snfdr Sfcid Siiae aiedTdid WHdId Ao,

Answer. d

10. SIIRT TETE] o URUSaHS dTgd, di/dl Qe

a. $ds ARG JHYUM

b. e ARG FHYE

c. THRG ot ARG THRE arel.
d. (a) fa1 (b) IS A=A,

Answer. ¢

11. g5 3101 Y&iE 7 Ser Ui w@d sed

a. Ve H=ied
b. FEUTT Fie

c. fRifHPa d=ied
d. TGN HRAL

Answer. a

12. OIS ST Heuid Brefiatst Hond e sRs amea?

a. ¥ dipugia IR fhar sramaTd sRde e auie A,

b. € Ugd TRNYF favaren "o Yoo RiyE favare et R ofte da Bied wRa.
¢. T UM TUNAS S=Ne 3T,

d. sw wd waig

Answer. d

13. SigT T GRyArEn duar nfor Ryradar dieard dsa

2. 9T TSR G Hrad dccHa At A Fen 3.
b. Fifea Wid SRURT TES UaTT S spem o,

c. =My ANfhes Fpy FHTevarrdt T M .

d. 38 wd g

Answer. d

14. GNYPH YA gl eed URAAHIT 3R R

a. yfaeg oRad
b. WA TRaE

c. 3fadis aRad-g
d. SR uRaa



Answer. b

15. QBT IHMRET TS

a. TR PRUR AEfDE TIEET o T56S Hledrd.

b. 2N YR FUSAed] Alfgeiar AMerebi=t Hejedt e,

¢. T ST THIUNG A didee naffta sl

d. 3T TRUTH 3R A fhar erdiaed fobdt gHN defdd WS e,

Answer. ¢

16. TSB! BT Hargrn e wordr Aga?

a. 9 UG fSYUeBT.

b. UG Hare

c. HeRI ookl wegws onfdr wegws 7 el wfafrand. yurdt Targ
d. GaerEdt e IR M1for ARy drdrarun.

Answer. d

17. ¥arg ®o gt 1. SE0 2. TATURET 3. GASH U0 4. Yo TR Rl 5. engdar dmg IW wWiela gafamyA fAasr:

a. 1,2 anfor 3
b. 3, 4 301 5
c. 1,2 enfr 5
d. 2, 33for4

Answer. d

18. Wit H01 I Fdlged TET 2

a. S 9l T o Wy uEde Hisdl

b. S ATGHIYHTAT UNTIR o ST HRUA F&H 3T

¢. ST 9¥E PTel Hied 3e W07 d MUl gefid Prerd I S

d. 51 Ffied RefieremR sriuaie sar ol e Tdy fawfia sl

Answer. ¢

19. 3 fdar o AT TN ToEd

a. YRS g

b. SficRefRITd Harg
¢. SRR Harg
d. sfiqRegfamTa dare

Answer. p ¢ ¢

20. TEE dfRkmed B 2



a. qAAPd Jedice, faSivd: Tea gewia
b. FHRIAGAT

¢. TN E=ga

d. 93 ™

Answer. d

21. géla mfehd gRaaen A% /el 1, 1,4, 8,9, 27, 16,2

a.32

b. 64

c. 81

d. 256
Answer. b

22. T fARY Hre HET "o¥3 BUN 3T T, "Wy’ WUS TS 3 @Y, 3O 'R3%' WU '3 M. @ diRadid @riiate! v e 3 s
31 g

a.9
b. 4
¢S
d.7

Answer. a

23. et afgt sred A € FmE A R, U 1 SifiaeT THadl U WIS, el 91U 1S, Bl RIGR HI IEY Y ?

a. AdRY

b. ST

c. gat

d. TS FEE e
Answer. d

24, TER T WETAT IWY R B SRR . WER T AERAT U 24 fFH SR o, T o <o of = ufimy gy fh SRR offe. § ¥R B U
ot R ofor FiorEn R sme?

a. IWes 15 b
b. cfdies 12 .
c. CfEmies 3 fob.ol.

d. <femes 12 fe.ah.

Answer. b & d
25. TR IURT AVH U9 64 5t ufe a3 320 et onfor IdRa 80 fovdt vl oy I vay xall. gRean Squf 640 fiar R 97 og.
a. 35.55 feit ufq a9

b. 36 foeit wfq T
c. 71111 ufy a=r



d. 71f%+ ufy o

Answer. ¢

26. TeliaU®! HIUA GF Yearedl Jeur fau aeifaa?

a. U9

b. SHIe=H

PRSIE IR

d. St PR T

Answer. a

27. SR fbar RIS 7 Orear YRR UdTaiE avifdur 3

a. gRETT
b. &t
c. dear
d. 9

Answer. b

28. gcaTge I Ul Rd HRUI dqedrye Jiedl dgM o gy greidid ST

a. MU O HaT gy TTeloR 94 W ool 3ireal.

b. 94 TXH Urolt Iren dgE gar go T

¢. 3T e e g USUTgiie! BTel F% ol andd
d. 93 wafg

Answer. a

29.
Ao 31101 gToRt ST} frdd SR, 4T U SHTRd. VRIS AFRY 89 3R d. WS SHIGRHT 7RI 846 31134 B faum wWreliar IRews gxifaard.

a. it g
b. IS TH
c. 38 R

d. Tarjdn uy

Answer. a

30. Ticflets) Pva fJur RER fdnd oM ?

a. 9gdP Pl AFHR T,
b. Sgd® A TH SN

C. PRI dl IEPR] 3
d. BTE Bl AMEHRT T

Answer. ¢



essay 04 :
ﬁ:mmmammmmwmm T FR AL AT 2004 T 2008 T HIeMaLhd Srsieam TRied UTd M HeA fhdt IHGaR

ESERIEIIEREINEARICC IR

- .-'..;‘.'9(_:}19.015 ¥

2004 650 760 820 800 780
2005 700 740 860 780 740
2006 800 820 940 750 730
2007 750 880 920 840 790
2008 850 840 900 . 860 770

31. 2004 AL VT § YA S faemai e o1 auf ¥d Meshe e Suae Uh U faemain WRara siers fdt ead a2

a. 16%
b. 18%
c. 20%
d. 25%

Answer. ¢

32, AP IY W51 § Ay Foeied fagmald amast e fadt o2

a. 676
b. 787
c. 808
d. 818

Answer. ¢

33. 2006 AL VBT A HgA IURYT Afgaied faamaih T 2Mest A Fg- ThHaun Jufyd et faematen g aaa fadt cad oig?

a.25.25
b.21.33
c.22.45
d. 23.45

Answer. b

34,2004 3ATOT 2005 A F A1V S AT MSTAYT STeHH TN THUT fagmafn T ToRR fadt oig?

a. 84.79000000000001
b. 79.84

c. 84.89



d. 89.84

Answer. a

35.2007 T e Rrastmy sqce fagmafd TRt e fasdt o2

a. 825
b. 836
c. 845
d. 863

Answer. b

36. @reliaiet wiR A R 12

a. RAM

b. EEPROM
¢. PROM

d. EPROM

Answer. b

37. WAN ®us

a. WAP TRl “eas
b. foga &7 Aeads

c. fawa R 7

d. TR TRar Aead

Answer. b

38. YharbrT STUNT Weid ST 3ifeoide PleHE FUART PRI hell Sid! Sl SHEiad Ppar Sg, Wbl

2. TH-FRG HHT
b. FE-wd ymw

c. 3¥ael-wRE Hw
d. F5fife e

Answer. a

39.39 U&RX § TP HUCISR 3R

2. 39 opd Rdww o0l
b. SR RAATER 39 Ow dar 20
¢. 39 PR

d. e iR Rl

Answer. b



40. THT UHTE gudl USIR e wrug wadA ot Weieiad A1 ol afg

a. HTML
b. IP

c¢. HTTP
d. FTP

Answer. ¢

41,7974} ii TG SHHT AT BT S ol aTg] i X a1 @rel! iGaied dleayd ava I fAaer.

R © List I :
[Water_Quahty)_ B ; (pH Value)
A. Neutral :

Moderately acidic l |1

B
C. Alkaline S ¥ a0 LA T
D Injurious Iv. 8

a. A-II, B-1II, C-I, D-IV
b. A-1, B-11I, C-1I, D-IV
c. A-11, B-I, C-1V, D-III
d. A-111, B-1, C-II, D-IV

Answer. ¢

42, o SgEe UM A1 WU 38

a. AERTR

b. g

¢. TreaT UIoaT Tema Snfor e
d. T

Answer. a

43, IrAAD! BT YR YSHure ifisiRgHer a=re Anfd oe?

a. A¥ URAW TRl
b. R wem

c. femmerdi wew

d. 4Rl dresde

Answer. ¢

44. TUCN %I

a. TR AT BR Bl i TR fs TRe Rk
b. $¥7 IFA BR BrgeeA Sip TR s Fara RaR.



c. faerf snfor Jufife gy Yadamrdt weifde Iu.
d. Wit SEE e

ANSWer. gonys is awarded for this question to all the candidates.

45, REDD+3 Weiielis! S IRy ?

a. FE BT

b. STTCEdT BRI HROY
¢. 19 Fe Riw

d. 93

Answer. d

46. T RgUTREMT G oS §9ged Tl Sd SR

a. @ FrrEs
b. IUMYE PrerEs
c. HEKIl PIAES
d. gl fmm

Answer. b

47. YRAW T U= XY AT, WIeerde! RE qY B | 2

a. Mg

b. HRPRTERE
¢. gUEA

d. ggar

Answer. a

48. Trefiate! S 3= R Fame g 2

a. TTHEeRS
b. TR
c. ol

d. Rrgm dEE|

Answer. c

49, fnftey faemat sparmen Fosvard ¥ v wva:

a. PR Y

b. wafaRoT e

c. Ufd& sarasn
d. &Hdl IS SARTHH

Answer. go s is awarded for this question to all the candidates.



1.(d)

11. (a)
21. (b)
31. (¢)
41. (¢)

50. 27 eniRmrg faemdic 3 fRya oM.

a. 741 et
b. SIOR

c. PIeHg
d. TG

Answer. a

2. (a)
12. (d)
22. (a)
32.(c)
42. (a)

3.(c)
13. (d)
23.(d)
33.(b)
43.(c)

4. (a)

14. (b)

24. (b & d)
34. (a)
44.(Bonus)

5.(c)

15. (¢)
25. ()
35. (b)
45. (d)

Test Answer

6. (b)

16. (d)
26. (a)
36. (b)
46. (b)

7. (b)

17. (d)
27. (b)
37.(b)
47. (a)

8. (a)

18. (c)
28. (a)
38. (a)
48. (¢)

9. (d)
19.(6 & d)
29. (a)
39, (b)

49. (Bonus)

10. (c)
20. (d)
30. (c)
40. (c)
50. (a)





